LA ESAGHETE — A% s=1:50

HEEE
HPPE ® 100 L=2. 6m [PE#E{+ L=1. 7m]
RAE A HPPE®) 100 L=27. Tm  [PE#E{T L=26. 6m] HIVP % 100 L=1. Om
180 4840 180
Z, iu[;.'lljf \/ \/
& g = ] T
S BRE BERE [ @immi| ﬁi”%rf‘/?“ﬁ%lﬁﬁﬂ%_t
P AN R 2HELI=y bR
1900 1500 1500 = — 100 1000 x 650 x 950H
5 & . - i BREW 6 150 (5 7L%)
—| = S N B3
P - N — — — — — — i[u[[ ﬂl I_II § ™ B3
( i - B3| 1500 S BIRAA 1500 o &
= E| & _E|S B & = 1500
| S| o0 S| 20020 e g RERESEC
S| m T = 8
— flEYiEg€ B = 8 Y =] T3 =
o 350 2| | 5300 300 5300 fn | 350 = @ - 220 | : T
3 =t < [k - T T = N A
N iié iﬂ_& 'Hgiié ijlj_é &8 = | ki I8 IO el
S7HRAP00 0.3m || D =3 | a7#es A = °
=) . | e—]
= <|S , 200/, S <
% - i —8 - BREIS00 I L BIEE1S00 - 8 :L ™
| i gl | o ' ' 1T o | =
o o . o ~
2 800 S| & = LA | — 2 | ] L Q 2 ~
: |l & TR/ & 1k o & ' S
. % — - ' 2| a 8 T FAE1000 e 1 - . FAEI000 6 _
S N a N e a S g @ J R = 4r4<_, 1000 |4|570_| 500 300 540 600 | | 1000 +r4<_, N 3|
| — BB & 5 % 6100 h=200 | B £ 5 6100 h=200 » | ; U, = i S . [ R, T I
i £ X = - 2 T | Pl | . —
g e | NELEXEFEAC || i s D 500 | =550 — i I © 200
M ‘} 5 [T ‘ ‘ W — B2k E 1500 § il 5534!—;150(5 ol EEKE 1500 3
— = - . . =2 ol <
%} = ‘ ‘ ‘ ‘ ‘ ‘ 90d %}E I B 658 ‘ j ﬂ 1 | @ B —_
X N o3 | | | ]
I ‘ ‘ ‘ ‘ | ol (1T] [1T] \ﬁ ﬁ [1T] (1]] HRE 1500
: | L | 3 e | |
K =3 L == | Sl o ‘ ‘
588 | . | B in T
| | | 100450 1000|300 1000 | 450_
| | | | 4400 3200 4400
100 200350 10900 1350200 100
‘ ‘ \ ‘ ‘ \ ‘ ‘ - 12000
| | | A~A" rm X
180 3200 180
| | | 1 1T
REYHESEE J L | g,
‘ ‘ ‘ ‘ - | BEEVPI000 | =
M M HE
| || | NCP150A NCP50A
| | | P | =HEE FRE X FEEEA 3
/ s s
| B (4B ) a o AR Fret REXHEAA o, g
‘ .| 7*& (b 200 0 30 fl - - - ~ — ~ - /// = B'ﬁF}'ﬁé150A
= B3 = ‘ [ ‘ ‘ - = = / ‘ EE%&?%%ED f 600
BHIREE ¢ 100 T o ||Fv7eeE ||| s -
‘ ‘ CEXHEEA ‘ T ’ 1000 x 650 ‘]/ ‘ ‘ o~ (A==rr 5 — FREXHFEEAC
~ (A o . | |
§ ] .3Jo — oL TR yoommrn [ = -
: = | | - s il \& \ 8
[ o~
P T} =N EE¥HeEs ” I = N NENTHIE X
BRI 100 | i (P ) - |8 S| EaskoRe T ¢ 65 x 383L/nfin| 20m x 3. TKw o T =] 540 e — = B
Y | 37 & ¢ 200 0. 30m — - | g 2 ~TTs BESR A 7L R S s | 3
> s — el O/ ] < € —1 T |aaell 1500 - = i
= B T B il 3 XX[ J 6000 AL e 27 #6280 0. 30m =
A L | | 3 7 26280 0.30m [ == - | | A 2 HokiE 36000, T i 8 N
- R vy o R - T || e : Sl L P
. B ATE = % |7 N | o g = FAE 1000 | v RIS
s /,/ B 1 i A CJH i Z HM E S8 fKE 1500 7 . l\ j.z__FGBA E o) S
u ; %2 | - e + 800 762 i ] ﬁ ,ﬁ.]\“é’fmanGJ | — s 1500 = g . 7
§ - N = | AN aRAT £ G = izl oy — 4}753*% IIég-lr:lI = = 1 —
B W il i - = R4 200 350 200
REFTANERE b T %ﬁ f[  mx ] &L - -
EABXIR/ e = Bk Y S -
i i WDIE | ] \ O o S |
BL'E - 1000 | 600/ 1300 | 600 | 10&) N 1000 s = — ] gl
=7 R $350 0.20m " 22D/ OIX] | Sl
350 10900 1350 = M (11] [11] il | |
200_ 11600 200_ A | -
- 12000 i —L - 12100 100
ﬁ@ E Feo . 4 /| W
BoEx 80 SRS EA B~B' WrmX
o 100 200350 1000 | 450_| 100
M H & 2000 imEta LT (F—/342 L)
NCP50A~150A 65A E ity
Q@IE&H%E L=1.5m SHMEE THES THRA-18
a8 o 5
OB IS AR T %
FHE—
fER $=1:50
g # A 8 [BE
1
wt| & A 8|3
BATHZKER




